
ضرب العبارات النسبية وقسمتها 

1A

1B

𝒛 = 𝟏, 𝒛 = 𝟐, 𝒛 = −𝟓

𝒚العبارة تكـون غير معرفة  عندما  = 𝟎 , 𝒚 = −𝟐 , 𝒚 = 𝟑

2

(B) والاجابة هي

4𝑦(𝑦 − 3)(𝑦 + 4)
𝑦(𝑦 − 3)(𝑦 + 2)

=
4(𝑦 + 4)
(𝑦 + 2)

𝒙 = −𝟐 , 𝒙 = 𝟓

العبارة تكـون غير معرفة  عندما 

العبارة تكـون غير معرفة  عندما 
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3A

=

3B

4B

𝟐. 𝟐. 𝟑. 𝒄. 𝒄. 𝒄. 𝒅. 𝒅. 𝟐. 𝟕. 𝒂. 𝒂. 𝒃
𝟑. 𝟕. 𝒂. 𝒃. 𝟐. . 𝟐. 𝟐. 𝒄. 𝒄. 𝒅 = 𝒂𝒄𝒅

12𝑐3𝑑2

21𝑎𝑏
.
14𝑎2𝑏
8𝑐2𝑑
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4B

𝟐. 𝟑. 𝒙. 𝒚. 𝟑. 𝟕. 𝒂. 𝒂. 𝒂
𝟑. 𝟓. 𝒂. 𝒃. 𝒃. 𝟐. 𝟑. 𝟑. 𝒙. 𝒙. 𝒙. 𝒙. 𝒚 =

𝟕𝒂𝟐

𝟏𝟓𝒃𝟐𝒙𝟑

16𝑚𝑡2

21𝑎4𝑏3
÷

24𝑚3

7𝑎2 𝑏2 4C

4D

𝟐. 𝟐. 𝟐. 𝟐.𝒎. 𝒕. 𝒕. 𝟕. 𝒂. 𝒂. 𝒃. 𝒃
𝟑. 𝟕. 𝒂. 𝒂. 𝒂. 𝒂. 𝒃. 𝒃. 𝒃. 𝟐. 𝟐. 𝟐. 𝟑.𝒎.𝒎.𝒎=

𝟐𝒕𝟐

𝟗𝒂𝟐𝒃𝒎𝟐

12𝑥4𝑦2

40𝑎4𝑏4
÷
6𝑥2𝑦4

16𝑎2𝑥

𝟑𝒙𝟒𝒚𝟐

𝟏𝟎𝒂𝟒𝒃𝟒
∙
𝟖𝒂𝟐

𝟑𝒙𝒚𝟒
=

𝒙𝟑

𝟓𝒂𝟐𝒃𝟒
∙
𝟒
𝒚𝟐 =

𝟒𝒙𝟑

𝟓𝒂𝟐𝒃𝟒𝒚𝟐
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5A

𝟒(𝟐𝒙 − 𝟓)
(𝒙 + 𝟕)(𝒙 − 𝟓)

∙
𝒙 − 𝟐 (𝒙 − 𝟓)
𝟒(𝒙𝟐 − 𝟒)

=
𝟒(𝟐𝒙−𝟓)
(𝒙+𝟕)

∙ (𝒙−𝟐)
𝟒(𝒙𝟐−𝟒)

= 𝟒(𝟐𝒙−𝟓)
(𝒙+𝟕)(𝒙−𝟓)

∙ (𝒙−𝟐)
𝟒(𝒙−𝟐)(𝒙+𝟐) =

2𝑥−5

(𝑥+2)(𝑥+7)

5B

ضرب العبارات النسبية وقسمتها 

7


